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ACHARYA VIDYA KULA
I ASSESSMENT - JULY 2017
STANDARD VI MAX. TIME 40 MIN
MATHEMATICS MAX. MARKS 20
GENERAL INSTRUCTIONS:

®  You will not be allowed to write during the first 5 minutes. this time has to be spent in reading the question
paper

® The time given at the head of this paper is the time allowed for writing answers All working including rough
work must be clearly shown and must be done on the same sheet as the rest of the answer. Omission of
essential working will result in loss of marks

e The intended marks of questions or parts of questions are given in brackets [ ]

®  Allgeometrical figures must be copied.

¢  Follow the same system of numbering as given in the question paper.

1) State whetheritis a monomial, binomial or trinomial: [2]
a)2xy+3  b)x*+y?+ 72 c) 3xyz d) % x+ 3y e)x-2x f)2aX 3b+ 4c
2)Write the degree of the following polynomials: [2]
a)20-x* b) 2x’y + 3x* c) 100 d)xyz+y
3) From the given figure, write: P
a) Three collinear points G \6 JE / o
b) Three non collinear points
¢) Point of intersection of AC and BD

d) A pair of mutually perpendicular lines R e H
4) Write True or False. If false, give the correct statement: [2]
a) The Maximum number of lines through three collinear points is three
b) A line segment has infinite number of points on it.
5) Make the greatest and the smallest 5 digit numbers using the digits 6, 3, 7, 0, 9 as
follows: [2]

a) 7is at the unit's place b) 9is at thousand's place

6) A merchant had < 78592 with him. He placed . order for purchasing 54 bicycles at % 970
each. How:"n%ney will remain with him after the purchasing 54 bicycles. [2]

7) Estimate the product by rounding off the first number correct to the nearest hundred
and the other number to the nearest ten: 287 X 83 [2]

8) Using properties evaluate: 5360 X 246 - 5360 X 146 [2]
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9) By suitable arrangement find the sum of 78, 203, 7197, 422 [2]

10) See the pattern carefully:

a)

b)

NN I, R

e

If n denotes the number of figure and M denotes the number of matches, find M in
terms of n

How many match sticks are required to make the 15th figure.




